Quiz3

Board 1 & 97 Board 2 & KQ
NorthDeals ¥ J65 NorthDeals v KQ83
None Vul ¢+ AKS8 N-SVul ¢ J842
& A9843 ® QJ2
4 Q1042 N & K86 4 653 N & A94
v K982 W £ v A107 v 1064 W e v 752
¢ 762 = ¢ QJ105 ¢ Q97 = ¢ 653
& Q2 & J105 & K1064 & A975
& AJ53 4 J10872
v Q43 v AJ9
¢ 943 ¢ AKI10
» K76 & 83

NorthisDeclarer in LNT
East leads Q¢ (top of sequence)

NorthisDeclarer in 3NT
East leads 5% (4th best from longest suit)

Pan the play Pan the play
Board 3 o KQ10 Board 4 4 1043
NorthDeals v KQ83 West Deals v 10432
N-SVul ¢+ AJ4 None Vul ¢+ QJ

* QJ2 #8763
& 653 N & A94 o K72 N ¢ Q986
v 1064 W E v J52 v A5 W E v KJ8
¢ Q97 = ¢ 653 ¢ 976 = ¢ AK52
& K1064 & A975 & AQ954 & KJ

& J872 & AJ5

v A97 vy Q976

¢ K1082 ¢ 10843

% 83 * 102

NorthisDeclarer in 3NT
East leads 5% (4th best from longest suit)

Plan the play

West isDeclarer in 3NT
North leads 2 ¥ (4th best from longest

suit)
Plan the play



